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UTP Cat.5E 0.5mm 4P=1 (HI 160) 8+10.3%2 8.6 A ™M HI 16 mm M 1 1 8.6
UTP #Hol & Cat.5E 0.5mm 4P M 1 1 8.6

UTP Cat.5E 0.5mm 4P+2 (HI 16C) 5+10.3+4 9.3 Z A ™M HI 16 mm M 1 1 9.3
UTP #Hol S Cat.5E 0.5mm 4P M 2 2 18.6

UTP Cat.5E 0.5mm 4P+2 (ST 160) 20 20 R E) oled = 16 mm M 1 1 20
UTP #Hol S Cat.5E 0.5mm 4P M 2 2 40

ool Z& 7} 16 C 19.5/1.5 13 o] Z3H 7} 16 C A 1 1 13

(XHH)

D2Eap ofel &, Cat.5E 1-ZEt 1 1 A Qx| BA 1 7H& 54 mm 7N 1 1 1
Dsap ol &, Cat.5E 17 7H 1 1 1

D2Eap ofel& Cat.5E 17+-524 1 1 A Qx| BA 2 7H& 54 mm 7N 1 1 1
ol E3EtA F{H e, 42 27 BS/W (25) 7H 1 1 1
Dsap ol &, Cat.5E 17 7H 1 1 1

ZufA 100X 100 X 50 1 1 Bl 100x100% 50 7H ! ! !
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